[N,/ An deltag U

Ratio to ATLAS

2.5

1.5

0.5

0.5

13000 GeV pp

lead ]
<N,> Vs pT (n] < 2.5, p.>05GeV,p >1 GeV)

| Unlderllyingl Event

| m ATLAS ]
| O Pythia 6.427 346 .
= Pythia 6.427 347 .
— Pythia 6.427 348 —]
B Pythia 6.427 349 7]
| —A— Pythia 6.427 370 ]
n 3
— | I =
B - *5 ' B
N A} J/%\ O s il |
r'T{“Fﬂmmmqﬂﬂmmé I LB — Lo I
u ) T 7 WH\ _
- x —
L 1 1 1 1 | L 1 1 L 1 L 1 L | L 1 L 1 L 1 L 1 L |
0 10 20 30

p'Tead [GeV]

Rivet 3.1.10, = 300k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


